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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [['setVlI ETcl’, 'setVI fgRec', ’'setVI VN ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forXX6 0
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XX6
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10:00 170 10.0 i ’Ri&@10:00 (kPBEREE)
10:40 170 10.0 i BRi%@10:40 (KRREERE)
11:20 170 10.0 {5 Ri%e11:20 (KBERKS)
12:05 170 10.0 i Bi%012:05 (KREEHE)
12:55 170 10.0 i Bige12:55 (REERSE)
13:45 170 10.0 i 1Ri%@13:45 (K BERKS)
14:30 170 10.0 i B1%@14:30 (REERHE)
2it|1700.0 (10X%) 100.0 EFREC: 2500, PH: 6.5

EORGEBR AR IRHR BN E (170.0 vs 36.0))

ZRIA L PRIEBT48. 0 ml.

unusual large postFgEt from yesterday (34), set to 30.0 ml.
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13:20 171 10.0 i Bi%013:20 (KREEHZE)
14:15 171 10.0 i Bige14:15 (REEREE)
15:00 171 10.0 i B218015:00 (KREEHE)
16:05 171 10.0 i ;Ri&@16:05 (kPB{EREE)
23t 1881.0 (113%) 110.0 B FHKEC: 2500, PH: 6.5

EORGEBR R CRIRIRBEN (171.0 vs 34.0))

2RI\ L PRIEEE50. 0 ml.
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FfiE) | EBIATK (FD) | ERE (EA/K) | XK EFE

08:05 170 10.0 i {R1%@08:05 (K FH1ERLES)
08:40 170 10.0 i B3i%@08:40 (RFA{EELZE)
09:15 170 10.0 i B18@09:15 (KRFERLEE)
09:50 170 10.0 {5 1R1%@09:50 (K FAfER%=2)
10:25 170 10.0 i BRi1%&@10:25 (FKPBHERE)
11:00 170 10.0 i Bi%011:00 (KREEHZE)
11:35 170 10.0 i Ri&e11:35 (RAERE)
12:10 170 10.0 i Bi%@12:10 (REEZERE)
12:45 170 10.0 i BRi&@12:45 (KPBERE)
13:20 170 10.0 i BRig@13:20 (KAERSE)
14:00 170 10.0 i BRige14:00 (kBERHE)
14:45 170 10.0 i BRi&@14:45 (KPBERE)
15:50 170 10.0 i Bi&@15:50 (RFEERE)
2it]2210.0 (13%) 130.0 3EHIKEC: 2500, PH: 6.5

ERGEBR R CRIRIRBIEI (171.0 vs 30.0))

2RI\ L PRIEEES6. 0 ml.
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